I MR AN
B VAN s VANY ™ VANRE VANNY i = I Y 0 > 7
HEXS,a—F| XK 7 % th 7 %8 N 7 %8 ZHEBES JJIL*= =]
= S =3 S S L =
GA HELER | AL | % 9IR 29 mfE~ > h— JLEEMAX (KEm&E=S 056) N
H A1 o+ 1 K] IR BFRRE
T 11 B H S=1:500 (mes%¥FmmXNo. 24) A
ThER  AEEN asg V4 \ L
+( 2042-10 w%mg\ﬁ / A Vi 4%, :
\+ (9 2042-9 ; \ / , .’ &
L2
.0
%
%
y
G 23
RS
"7 I
@S 1
¥}/| 9, .
A - A BrEE s=1:60 |
!
O
~‘ =T EEHFAS
A 4 +
Aoy )y
R GL=14. 841
§ \b 7078
2787 = /L/% N J»%
S 4. 3 -
mX s=1:60 1000 | 7001 1300 _ oo
5400 3 o o
3
200| 500 2000 2000 500|200 T T
1000 300 - -
S 1 T T
o = (=) (e 8 B 600 B
= g 08 & — 3 o = SIE. o
: /_'n:‘* ﬂy:/)d \Q\: _:: : \ 8 g g B C)i; T: T \b 8 a
: |'\ Q ,'l : — Lo — LD N
250 1 NP 290 S 250 | || JGMOOO 2 —
| N et | = “Toey ~
o U | glH190 | S A S 1000 250 5 2
= 250 | H| |< g 5 i D ‘§ | - ] 250 o
N | 600, < | | Q| 3
= : | ﬁ;\é '—-ﬁ =} : 8 8 : - \)Z - [H;’-Ig o)
L - I © co : — — .
S| 2500 x 2500 /ﬁ—»/r’ﬁir o gl 2 | o I 4 | _ = 47— 12500 x 2500 <l 8
A o 9 < AR S - X : D I \/ B o Jal | o
2 g X \ = ST T | ol ™ B8 2 | R
=l g Z/:I ““““ -1 o \ ® @ © & | = al | -
§ : : \/j:‘—-ji_l 87 8 i — B : . i B
N | 600 150/ | _ _ | lg6.741 L—:\—
= 250 /I 8] K | - 3 B -
< Al &) 1000 l s -
/ : e — ! 3 -
250 | L Tl loso| - 200 5001500 A
I MU hguat : 200 : 2
N | [ ! I — B '
= s g = - | S
2 S = : =
g 250 - | S
_ ! N
: Q
- | I
- ! 1.623 — fF =
250 S g g
| N H / o -
S — 90
= 5
3 3
200 | 500 2000 500/ | 200 A
3400
Sl
# A
2
3
3
A
R—




~i: 3 /
\ . . . - I S ay v _é_
MERSTI—K| X & 3 th 4 48 Ny E | BEES JIL*=2 JEH O
= LN — X I\YZ = == =
6A GELEH | A A | E 10 IR 23 hfE~< > —)LEERX ( = 057) N
n B~ 7~ =it XH®ES BEs HERE
1:500 (feskFmXNo. 24) A
= )
| N )
— | - H] (X S=1:60 &
| L £
= s 25900
— = | /
— 200| 500 2500 300 1500 300 1500 300500 3000 3000 3000 3100 5500 500 | 200 v
S 22
Dy
— | RN N l
S b 2600 = |g 5
€ _ - |® 300 | 1000 _
S ]
N ] B
- []
8AL | = =] L [y N T = o
- ,\' /Qg\/\ [ AJ\ : T :
| O = B = S
i ’ - - _ | | &
S i 8 S ® i l/ | :/ \1 4/ \1 S i = S i =
% : 8 ﬁ g: : \ A/ \ . ) I \ . ) I 8 : N ﬁ : § : L(oj
| - 800 N I |
| o | | | !
N N S v L] | . )\ ! : -
3 g | - . ' | 3 8
SN 5 i L - 2500x2500 | 8 g
= —t-- I J\ i — o T —— il | . S
| | 800 | | |
| = '\ 2500x2500 N = | |
| /‘L/X ____________ . _ _ (P |
8 : O o H : / N\ / N\ 7 N\ o : L o : g : O
SN |8 2|2 - (. 18 18 g S S
| | i - i | | =
| N =5 5| &
Y t-- \ S / : ' |
§7ﬁ ! S N /! ] ] i :_: i
3
o
K
%Fﬁ L a0 » . & =
1 \\ //J 1
o ol 450 500 B
S ( ) 3 . "
S|~ 200 1900 200~ 3004 1111000 -
GL=11. 469 | | | | ] S
. . = ' S GL=11. 469
TSTT7 : o - S5
9900 | | i H 8 LI s N S 2 SR 2 o
IR L] 1800 11300 | [[300°° 1L \1700 - =
él: I:::::::::::::::::::::::: Ex :::‘_E'::E : : 2850 3000 3000 @ 250 1 :
S (R o P - IS X Ry ] i
8 Y U 8 § : o
g BERY Y- ¥ 5 S
| )
\ 3000 B 3000 B 3000 3 :
| i T 1 7836 |, |
— v S
) R N Ml W ctetetetebebebebubtotn (N 2 E
= \ S 4 S N EEH
S ;
B 800 800 - g0 /% = fF m
- 75 F A
— ™ ) il ) i ) ] 0
B < 4 — 12500 x 2500
= A — 12500 x 2500 S FA A
B S 50
Lo
= - - i3
3 Y o 3
l — A
o i -
2 | - #E
Q : — E ﬁ
1 [1703 _ TR
S g - 250 9
SR ) &
ot o
- X _ 3
o
3 A
3
200 500 2500 500| | 200 =




. 2
\ " " . [|3& 18y TS %_A
MERSTI—K| X & 3 th 4 48 Ny E | BEES JIL*=2 JEH O
: > eI X m&Es 058
taran =JL Yada — -
GA EEsfER | A R | B 10 IR 23 mfE~< > —)LEERX (K EmE= s s
. - [0 1D
ft 35 B H =1:500 (HESRFE@ERNo. 24) N
) | o0
LFJ i 7L
=
TEIX] S=1:60 .
I
?‘ ]
|
()
Lo 3
3
19 S
S 2
B O i S
5 1020 7 [T TS
| 920 I
M 8 :8 /_—_—_\_\_:O ::
Q | ’J'T;“\_Ai:ﬁ '-‘O’:: = ol o A
Q ©:© l/l|(' \l‘*'i by 8 QL S
)13 W{K@/m i — ST
: \\IL\_\_q_)_, < _/i: () [} S
) ::::*"ILO I
| i ::
2 1600 | 1400 i
N S I ol _ =
e trasal - N =
[ERNERINE 2
150 /150 150 S
’
50_400450 2000 450400, 50
3700
_8]
WU [Y) »
A - A BTEE s=1:60 B - B BrmE s=1:60
2900 o - i 2900
GL=14. 942 > < < GL=14. 942
777 e —— 7577 P —— 7777
(@) o
m )| g ® 5 N
N S S —
] 2 2 0
! (@]
. 1 g
S| |21200 i Co ] 1300
- s T S S - 1100 | 21260 | 1100 A
— - & 3 - - . EEZ I
o — 380/ 920 50 - 1222 50856 50 1222 A e m
S i n T30 7 e
Bk - LT 8 2 :
28— — _F : i \— R 2 g 50
- 300 3 3 &
| - '8 |
! _ 3 : o o o ’
2 = | 3 3 S A
X 150 [ [ | 150 | ?
= | —
L J7.882 | 7902 | o / ﬁ £ R
: | <t
: . i : 5 )
[ ] ] 2
o
= 8 450400 50 f
50 |400450 2000 450400 50 ] -
3700
R—




MERZ2O—F| X 5 b o> 3R N R O BREES *E*EJIII)|LWT7KL-S[‘]E

GA BT & A A £ 11 IR 24 ﬁ;ﬁ'? TI'\—)I/ni"f‘H]. (§(

&= 009)
! BFiRE AFFR
A
)
&
5
1
[ I-H-I I 22
[22-1] 02800 1.4% 113.785m i Q 5=1:60 |
, = 1
T (s 00 — 7T T 1 1T I : X = = = =2 = = = = = = —
'x L ;62m L2 = === + @ e
) |
= 2
o
=)
o
- <
KRi—— /\----——----- 4,;————_—_——————— ——————— :———J,; —————————————— —§
h S R @“/\.\[ R S g 8 _AT
® — WA ? F B
f 1400 i
I I o
T \~— "~~~ ———~— n-———_—_——l——l— —————————— _—_—-——H— ———————————— 778
s 2
S
3
50_400450 2000 450400 50
3800
LN
A/ X . s}/ + .
A - A BREE s=1:60 B - B BYEIE s=1:60
GL=15. 093 GL=15. 093
7270787 —— ——— 7270787
o o
00 1 Il S S -l 0 00
I = ~ IR
i 8 8 ]
o <t <
o
(9p a o
(1400 - _ S
i S = =
L 50 i > FHif
o C e a0 | fF
3 < 380 920 § 60 " % A
" e T 1 S S 300
B Ly o “ ~ mF
% 9 I L o o S ee—— = = o
<| N T L | N 3 & 50
| 300( 2 3 F
| | 3
2 | | 8 g = A
X , I N ™ ™
) | | N
i - | 5 %
________ -1 (8048 | 8088, , _ ] | F A
S S 8 3 * R
g g :
50 400450 2000 |450400) 50 50 400450 3400 450400 50 e
3800 5200
R—o




MERZ2O—F| X 5 b o> 3R N  BREES *E*EJ”I)'LWT7KLI:II‘]E

GA BT LEER N £ 11 IR 24 ,)|[,j-\7 7|_\_)l/ -%EHX (ﬂﬁ_%% O60> B SR EE

A
)
ES
M
22
|
2 E X 3=1:60 1

450400 50

205
205

Y Z5 O P U | X e JE—

>
22800
22800
3400
5200

-

| 1400 y
S g g
S
3
50 1400450 2000 450400 50
3800
B
1]/ + . V7] ) .
A - A BTEE s=1:60 B - B KrERE s=1:60
GL=15.516 GL=15.516
7272727 —————— —— 7272727
() o
500 j_ = ﬁ : ® j} = i
: 2 2 300
o h <F|
o O
™ N — 877
n__n L] | O
F S S | 856 ! .
I — — L y ¥ X
. L1380/ 920 1 50 1222 50 L4 50 1222 e B
X o s . = % A
5 i S 3| =
= 2 AL B 2 A
L| S T \& T 8 2 .
|2 @ g0 2 2 .
S | g :
8 : L NN : 8 8 8 e = —_5 — <®r J=|
g : : S & ]
D ! | 8 H
i : i ﬂIJI EH HEIEK
________ = ___1__y 8251 8.2y ' )y # A
B 2 g ® R
J L §§ ) :
3
50 |400450 2000 450400 50 50 400450 3400 450400 50 A
3800 5200
R—




